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Section —A ( Language Conventions)
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English Language  Questions 1 to 24

(Questions 1 to 8) Read the following passage carefully and select the most suitable option from each
list according to the corresponding number in the passage.
1

For Ananya, Mathematics was extremely hard to understand. In order to keep her

results high enough to succeed and to satisty ~ her parents, Ananya attempted a

2 3 4
number of strategies. The answer though was simple. She had to work constantly
5 6
and dilajentley at applying the different formulas to a range of contexts. Often
7
she was envious of her peers to whom_comprehension came easily. However, at the

8
end of the year, it seemed her relentless work was rewarded when her results put

her amongst the leading scholars of her class.

Q1. Which of these would be the best word to use to replace the word ‘extremely” as it is
used in the passage above?
1) wvastly
2) mostly
3) especially
4) massively
Q.2 Which of these is closest in meaning to ‘strategies” as used in the passage above?
1) rules
2) questions
3) approaches
4) instructions

Q 3. Which of the following could replace ‘answer’ as used in the passage above?
1) reply
2) puzzle
3) solution
4) explanation
Q 4. Which of the following could replace ‘though” as used in the passage above?
1) yet
2) even so
3) however




4) all the same

Q 5. Which of the following is the correct way to spell ‘dilajentley’?
1) dilajently
2) diligently
3) dilejently
4) dilegently

Q 6. Which of these is closest in meaning to ‘contexts” as used in the passage above?
1) ways
2) settings
3) numbers
4) situations

Q 7. Which of the following is closest in meaning to ‘was envious of’ as used in the passage
above?
1) was jealous of
2) was resentful of
3) was bitter towards
4) was hostile towards

Q 8. Which of the following is the opposite in meaning to ‘rewarded” as used in the passage above?
1) forfeited
2) punished
3) penalised
4) disadvantaged

(Questions 9 to 12) This passage contains errors and an omission. Choose the correct option from the lists
below to correct these errors and complete the passage.

I entered into the compound, )
was surrounded by gloomy stone towers, (10)
and realised I was alone and that I had to fend for yourself. (11)

I had only the clothes on my back and a desired to see my family. (12)

Q9. Which word can be left out of this line without changing its meaning?
1) the
2) into
3) entered
4) compound

Q10. Which word correctly completes the sentence?
1) that
2) what
3) which
4) whom




Q11. Which word should replace “yourself'?
11
2) me
3) mine
4) myself

Q12. Which word correctly replaces ‘desired’?
1) desire
2) desires
3) desiring
4) desirable

(Questions 13 to 16) Each of the numbered lines given below contains an error. Choose the correct option
from the lists below to correct the corresponding error.

Within recent years, experts in Kolkata (13)
had worried about high mercury levels in some fish species. (14)
High mercury levels can be dangerous muscle (15)
weakness and mental and emotional problems

such as depression are common symptoms. (16)

Q13.
1)in
2) at
3) over
3) from

Q14.

1) had become worried

2) have became worried
3) have become worried
4) had increased worrying

Q 15. This line needs:
1) acomma after the word dangerous.
2) an action word to make it a sentence.
3) acomma to link it to the next line to join two clauses together in the sentence.
4) a full stop to complete the first sentence and a capital to begin the next sentence
Q 16.
1) (such as depression)
2) “such as depression”
3) such as depression!
4) such as — depression




(Questions 17 to 20) Complete this passage by selecting the most suitable word from each list to
fill the corresponding gap.

Cosmas Indicopleustes

Cosmas was an ancient Greek merchant who made sea voyages to India . He described and sketched some
of what he saw and his works _ (17)  some of the earliest world maps.

He was given the name Indicopleustes, which means “Indian ___ (18) 7,

Although there had been trade between the Roman Empire and India from as early as the first __(19)

BC, Cosmas was one of the few individuals who had actually made the journey himself and, as such, is

(20) of this name.

Q17.

1) receive

2) contain

3) exclude

4) subsume

Q18.

1) sailor

2) sketcher

3) emperor

4) merchant
Q19.

1) age

2) time

3) century

4) instance

Q 20.
1) proud

2) worthy
3) boastful
4) honoured




(Questions 21 to 24) Complete this passage by selecting the most suitable option from each list to
fill the corresponding gap.

The boat trip to Barren Island, _ (21)___ home to the only active volcano in India, was not pleasant.
Our battle with the waves ___(22)___ with a display of billowing white ash.
We could see remnants of black lava from the recent_ (23) that had spilled down to the water’s edge.

Barren Island is a suitable name for the island given that it is home to a ___ (24) of animal inhabitants.

Q21
1) whatis
2) whichis
3) what were
4) which were

Q22.

1) is rewarded

2) are rewarded

3) was rewarded

4) were rewarded
Q23.

1) outburst

2) eruption

3) occasion

4) destruction

Q24.

1) limited number

2) plentiful supply
3) specific quantity
4) numerous amount
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0" 3R 1'| UPb d1ge '8’ € H1 BT ©| Udh 3MNd CaRe BIsel H oW THIT 100 fdhell d18ed
gd § (100000 dISSH AT 800000 fdSH) | Safh UHh &1 &1 ol o f gexvic ¥ SIS &
% FRTETSSA (1000 000 000 bytes) BT BIAT 2 |
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PR UAER Udb HbUS H IREl UMY HRal 2 | YD ITUET [THHBT YR &9 7 3R TF
f$fTe (0,1,2,3,4,5,6,7,8,9) & 7l & B 5N BIS OTHPT MR 2 8 3R Ny =ra

2" 2 H ISl Sl & | SHH1 gRumA I8 © b 91 A9 '0° 3R 1" & ¥ | e S 2 Sir
6 71 aRT | <@ o1 Adhar § & dH MR 107 dTel 3Dl B 4 e arell PIT H
Jaell SITAT 2 | SATeT & 3idl & foly SareT faed &1 siawdadr 8l ¢ |

YR 10 | IRUMEwY
I 3 | T PIS
0 0000
1 0001
2or (21 [ 0010
3 0011
4 or (23 |0100
5 0101
6 0110
7 0111
8 or (23) | 1000
9 1001
10 1010
11 1011
12 1100

gl BT SXIATS SHOl &1 hifeT § ) fhar Srar & ROrgd Scad & gRT I96T IR 8T © |
SISl DI G Ul BIc—BIc avi # fawforg fhar Sirdr 81 S a¥f T8N &t 81 & S= 0 A4

fagr AT § QIR S 8o AT ABE B & S 17 A AT SIr B UAF Il B ufdd bl
fdecd & w8 | S A1 8 O fF e e B |

o[1]0

1(01]1

11110
A BT a9 A it &1 9|
oo # gRadH

010 101 110

feg @1 dfaaar &1 wA

H gRad= qem - &1 I
UJP Gfdd & HFI BT T
BT B |
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57. AT 1 g SHGT | DI AT IS HH IHIT?

1) 110 110 101
2) 000 001 110
3) 001 001 010
4) 111 110 001

58. AR ¥ Y 7Y ISTERVT & IMTAR 13 BT ISR DIS T BIIT?
1) 1101
2) 1110
3) 1111
4) 10001

59. 379 H P AT 3fH FISTRI BIS H 10000 & §RT SHAT SIRIT?
1) 14
2) 16
3) 18
4) 20
60. AENI BIe & ATAR I+ T IS 3ABI 0110 IR 0101 BT ART FAT BRI?
1) 0211
2) 0111
3) 1011
4) 110101
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